



# Bohr-Type Inequalities with One Parameter for Bounded Analytic Functions of Schwarz Functions

Xiaojun Hu<sup>1</sup> · Qihan Wang<sup>1</sup> · Boyong Long<sup>1</sup>

Received: 15 June 2021 / Revised: 26 September 2021 / Accepted: 8 October 2021 /  
Published online: 23 October 2021

© Malaysian Mathematical Sciences Society and Penerbit Universiti Sains Malaysia 2021

## Abstract

In this article, some Bohr-type inequalities with one parameter or involving convex combination for bounded analytic functions of Schwarz functions are established. Some previous inequalities are generalized. All the results are sharp.

**Keywords** Bohr radius · Bohr-type inequality · Bounded analytic functions · Convex combination · Schwarz functions

**Mathematics Subject Classification** 30A10 · 30B10

## 1 Introduction

Let  $\mathcal{B}$  denote the class of analytic functions  $f$  defined on the open unit disk  $\mathbb{D} := \{z \in \mathbb{C} : |z| < 1\}$  such that  $|f(z)| \leq 1$  for  $z \in \mathbb{D}$ . The Bohr's theorem states that if  $f \in \mathcal{B}$  and  $f(z) = \sum_{k=0}^{\infty} a_k z^k$ , then

$$\sum_{n=0}^{\infty} |a_n| |z|^n \leq 1 \quad \text{for } |z| = r \leq 1/3, \quad (1.1)$$

---

Communicated by Rosihan M. Ali.

---

This work is supported by the Foundation of Anhui Educational Committee (KJ2020A0002) and Natural Science Foundation of Anhui Province (1908085MA18), China.

---

✉ Boyong Long  
boyonglong@163.com

Xiaojun Hu  
Xiaojun605@163.com

Qihan Wang  
qihan@ahu.edu.cn

<sup>1</sup> School of Mathematical Sciences, Anhui University, Hefei 230601, China

the constant  $1/3$  is sharp and the above inequality is called the classical Bohr inequality. Bohr originally established inequality (1.1) only for  $r \leq 1/6$  in 1914 [16]. Later, the value  $1/3$  was obtained independently by Riesz, Schur and Wiener. There are many articles that have shown the constant  $1/3$  cannot be improved (see [29,31]).

For background information related to Bohr's phenomenon, we refer to the recent surveys by Ali et al. [8], Bénéteau et al. [10], Ismagilov et al. [21], Kayumova et al. [27] and the references therein. In particular, [11] includes the Bohr phenomenon on the subordination classes of concave univalent functions, [12] discusses some Bohr inequalities for logarithmic power series, and [13] initiates a study of the Bohr radius problem for derivatives of analytic functions. Some harmonic versions of Bohr's inequality were discussed in [18,24,26]. In recent years, many results related to Bohr's theorem are obtained in the setting of several complex variables. Boas and Khavinson [15] obtained some multidimensional generalizations of Bohr's theorem, and Aizenberg [5] extended it for further studies. For more information about Bohr inequality and related investigations, we refer to the recent articles [7,15,23].

It is worth pointing out that the Bohr radius has been discussed for certain power series in  $\mathbb{D}$ , as well as for analytic functions from  $\mathbb{D}$  into other domains, such as convex domains [1,6], concave wedge domains [4], the punctured unit disk [3] and the exterior of the closed unit disk [2].

In order to state our main results, we recall the following several Bohr-type inequalities.

**Theorem 1.1** [22] Suppose that  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  is analytic in  $\mathbb{D}$  and  $|f(z)| < 1$  in  $\mathbb{D}$ . Then

$$|f(z)| + \sum_{k=1}^{\infty} |a_k||z|^k \leq 1 \quad \text{for } |z| = r \leq \sqrt{5} - 2$$

and the radius  $\sqrt{5} - 2$  cannot be improved. Moreover,

$$|f(z)|^2 + \sum_{k=1}^{\infty} |a_k||z|^k \leq 1 \quad \text{for } |z| = r \leq \frac{1}{3}$$

and the radius  $\frac{1}{3}$  cannot be improved.

**Theorem 1.2** [28] Suppose that  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  is analytic in  $\mathbb{D}$  and  $|f(z)| < 1$  in  $\mathbb{D}$ . Then

$$|f(z)| + \sum_{k=1}^{\infty} |a_{2k}||z|^{2k} \leq 1 \quad \text{for } |z| = r \leq \sqrt{2} - 1$$

and the radius  $\sqrt{2} - 1$  cannot be improved.

In [28], combining Theorem 2.5 and Remark 2.7, we get the following theorem.

**Theorem 1.3** [28] Suppose that  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  is analytic in  $\mathbb{D}$  and  $|f(z)| < 1$  in  $\mathbb{D}$ . For  $s \in \mathbb{N}$ , then

$$|f(z)| + \sum_{k=1}^{\infty} |a_{sk}| |z|^{sk} \leq 1 \quad \text{for } |z| = r \leq R_s,$$

where  $R_s$  is positive root of the equation  $\varphi_s(r) = 0$ ,  $\varphi_s(r) = r^{s+1} + 3r^s + r - 1$ . The radius  $R_s$  is the best possible.

**Theorem 1.4** [28] Suppose that  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  is analytic in  $\mathbb{D}$  and  $|f(z)| < 1$  in  $\mathbb{D}$ . Then

$$|f(z)| + |f'(z)||z| + \sum_{k=2}^{\infty} |a_k| |z|^k \leq 1 \quad \text{for } |z| = r \leq \frac{\sqrt{17}-3}{4}$$

and the radius  $\frac{\sqrt{17}-3}{4}$  cannot be improved.

In this paper, let  $\mathcal{B}_m = \{\omega \in \mathcal{B} : \omega(0) = \dots = \omega^{(m-1)}(0) = 0, \omega^{(m)}(0) \neq 0\}$  and  $\mathcal{B}_n = \{\omega \in \mathcal{B} : \omega(0) = \dots = \omega^{(n-1)}(0) = 0, \omega^{(n)}(0) \neq 0\}$  be the classes of Schwarz functions, where  $m, n \in \mathbb{N} = \{1, 2, \dots\}$ . Our aims of this article are to generalize the above theorems and establish some new Bohr-type inequalities with one parameter or involving convex combination for bounded analytic functions of Schwarz functions.

## 2 Some Lemmas

In order to establish our main results, we need the following some lemmas which will play the key role in proving the main results of this paper.

**Lemma 2.1** (Schwarz-Pick lemma) Let  $\phi(z)$  be analytic in the open unit disk  $\mathbb{D}$  and  $|\phi(z)| < 1$ . Then

$$\frac{|\phi(z_1) - \phi(z_2)|}{|1 - \overline{\phi(z_1)}\phi(z_2)|} \leq \frac{|z_1 - z_2|}{|1 - \overline{z_1}z_2|} \quad \text{for } z_1, z_2 \in \mathbb{D},$$

and equality holds for distinct  $z_1, z_2 \in \mathbb{D}$  if and only if  $\phi$  is a Möbius transformation. In particular,

$$|\phi'(z)| \leq \frac{1 - |\phi(z)|^2}{1 - |z|^2} \quad \text{for } z \in \mathbb{D},$$

and equality holds for some  $z \in \mathbb{D}$  if and only if  $\phi$  is a Möbius transformation.

**Lemma 2.2** ([19]) Suppose  $f(z)$  is analytic in the open unit disk  $\mathbb{D}$  and  $|f(z)| \leq 1$ . If  $f(z) = \sum_{n=0}^{\infty} a_n z^n$ , then  $|a_n| \leq 1 - |a_0|^2$  for all  $n \in \mathbb{N}$ .

**Lemma 2.3** For  $0 \leq x \leq x_0 \leq 1$ , it holds that

$$\Phi(x) := x + A(1 - x^2) \leq \Phi(x_0) \quad \text{whenever} \quad 0 \leq A \leq 1/2, \quad (2.1)$$

and similarly,

$$\Psi(x) := x^2 + A(1 - x^2) \leq \Psi(x_0) \quad \text{whenever} \quad 0 \leq A \leq 1. \quad (2.2)$$

The proof is simple, we omit it.

### 3 Main Results

In Theorem 3.1, we give a kind of convex combination form for refined classical Bohr inequality as follows.

**Theorem 3.1** Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$ ,  $a := |a_0|$  and  $\omega \in \mathcal{B}_m$  for  $m \in \mathbb{N}$ . Then for  $t \in [0, 1)$ , we have

$$t|f(\omega(z))| + (1-t) \sum_{k=0}^{\infty} |a_k| |\omega(z)|^k \leq 1 \quad (3.1)$$

for  $|z| = r \leq R_{t,m}$ , where

$$R_{t,m} = \begin{cases} \sqrt[m]{\frac{1-2\sqrt{1-t}}{4t-3}} & \text{for } t \in [0, \frac{3}{4}) \cup (\frac{3}{4}, 1), \\ \sqrt[m]{\frac{1}{2}} & \text{for } t = \frac{3}{4}. \end{cases}$$

The radius  $R_{t,m}$  is the best possible.

**Proof** According to the assumption,  $f \in \mathcal{B}$ ,  $a := |a_0|$  and  $\omega \in \mathcal{B}_m$ , by the Schwarz lemma and the Schwarz-Pick lemma, respectively, we obtain

$$|\omega(z)| \leq |z|^m, \quad |f(z)| \leq \frac{|z| + a}{1 + a|z|}$$

for  $z \in \mathbb{D}$ . It follows that

$$|f(\omega(z))| \leq \frac{|\omega(z)| + a}{1 + a|\omega(z)|} \leq \frac{r^m + a}{1 + ar^m}, \quad |z| = r < 1. \quad (3.2)$$

Using inequality (3.2) and Lemma 2.2, we have

$$t|f(\omega(z))| + (1-t) \sum_{k=0}^{\infty} |a_k| |\omega(z)|^k$$

$$\begin{aligned} &\leq t \frac{r^m + a}{1 + ar^m} + (1-t)a + (1-t)(1-a^2) \frac{r^m}{1-r^m} \\ &:= A_m(a, r, t). \end{aligned}$$

Now, we need to show that  $A_m(a, r, t) \leq 1$  holds for  $r \leq R_{t,m}$ . It is equivalent to show  $A(a, r, t) \leq 0$ , where

$$\begin{aligned} A(a, r, t) &= [A_m(a, r, t) - 1](1 + ar^m)(1 - r^m) \\ &= -r^{2m}(1-t)a^3 + [-r^{2m}(1-t)]a^2 \\ &\quad + [(1-r^m)^2 + (1-t)r^{2m}]a - r^{2m}t + 2r^m - 1. \end{aligned}$$

Obviously,

$$\begin{aligned} \frac{\partial A(a, r, t)}{\partial a} &= -3r^{2m}(1-t)a^2 - 2r^{2m}(1-t)a + (1-r^m)^2 + (1-t)r^{2m} \\ &:= B(a, r, t). \end{aligned}$$

Observe that  $B(a, r, t)$  is a continuous and decreasing function of  $a \in [0, 1)$  for fixed  $t \in [0, 1)$  and  $r \in (0, 1)$ . Then we have  $B(a, r, t) \geq B(1, r, t) = (4t-3)r^{2m} - 2r^m + 1$ . Next, we divide it into two cases to discuss.

*Case 1.* If  $t \in [0, \frac{3}{4}) \cup (\frac{3}{4}, 1)$ , then we have  $B(a, r, t) \geq B(1, r, t) \geq 0$  for  $r \leq \sqrt[m]{\frac{1-2\sqrt{1-t}}{4t-3}}$ , where  $\sqrt[m]{\frac{1-2\sqrt{1-t}}{4t-3}}$  is the unique root in  $(0, 1)$  of the equation  $(4t-3)r^{2m} - 2r^m + 1 = 0$ . It follows that the  $A(a, r, t)$  is an increasing function of  $a$  for  $a \in [0, 1)$ .

Thus,  $A(a, r, t) \leq A(1, r, t) = 0$  for  $r \leq \sqrt[m]{\frac{1-2\sqrt{1-t}}{4t-3}}$ .

*Case 2.* If  $t = \frac{3}{4}$ , then we have  $B(a, r, t) \geq B(1, r, t) = -2r^m + 1 \geq 0$  for  $r \leq \sqrt[m]{\frac{1}{2}}$ . Thus,  $A(a, r, t) \leq A(1, r, t) = 0$  for  $r \leq \sqrt[m]{\frac{1}{2}}$ .

Next we show the radius  $R_{t,m}$  is sharp. For  $a \in [0, 1)$ , let

$$\omega(z) = z^m, \quad f(z) = \frac{a+z}{1+az} = a + (1-a^2) \sum_{k=1}^{\infty} (-a)^{k-1} z^k, \quad z \in \mathbb{D}. \quad (3.3)$$

Taking  $z = r$ , then the left side of inequality (3.1) reduces to

$$t|f(r^m)| + (1-t) \sum_{k=0}^{\infty} |a_k| r^{mk} = t \frac{a+r^m}{1+ar^m} + (1-t)a + (1-t)(1-a^2) \frac{r^m}{1-ar^m}. \quad (3.4)$$

Now we just need to show that if  $r > R_{t,m}$ , then there exists an  $a$ , such that the right side of (3.4) is greater than 1. That is

$$(1-a)[2r^{2m}(1-t)a^2 - ((2t-1)r^{2m} - r^m)a + r^m - 1] > 0. \quad (3.5)$$

Let

$$C(a, r, t) = 2r^{2m}(1-t)a^2 - ((2t-1)r^{2m} - r^m)a + r^m - 1.$$

Then we have

$$\begin{aligned} \frac{\partial C(a, r, t)}{\partial a} &= 4r^{2m}(1-t)a - (2t-1)r^{2m} + r^m \\ &:= D(a, r, t). \end{aligned}$$

Observe that  $D(a, r, t)$  is a continuous and increasing function of  $a \in [0, 1)$  for each fixed  $t \in [0, 1)$  and  $r \in (0, 1)$ . Then we have

$$D(a, r, t) \geq D(0, r, t) = (1-2t)r^{2m} + r^m \geq 0$$

for any  $t \in [0, 1)$  and  $r \in (0, 1)$ . It means that

$$C(a, r, t) \leq C(1, r, t) = (3-4t)r^{2m} + 2r^m - 1 = -B(1, r, t).$$

Furthermore, the monotonicity of  $B(1, r, t)$  leads that if  $r > R_{t,m}$ , then  $B(1, r, t) < 0$ . Namely, if  $r > R_{t,m}$ , then  $C(1, r, t) > 0$ . Hence, by the continuity of  $C(a, r, t)$ , we have

$$\lim_{a \rightarrow 1^-} C(a, r, t) = C(1, r, t) > 0.$$

Therefore, if  $r > R_{t,m}$ , then there exists an  $a \in [0, 1)$ , such that inequality (3.5) holds. This proves the sharpness and proof of Theorem 3.1 is complete.  $\square$

**Remark 3.1** 1. If  $\omega(z) = z$ , then Theorem 3.1 reduces to Theorem 3.1 of [32].  
2. If  $\omega(z) = z$ ,  $t = 0$ , then Theorem 3.1 reduces to the classical Bohr inequality.

**Theorem 3.2** Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$ ,  $a := |a_0|$  and  $\omega_m \in \mathcal{B}_m$ ,  $\omega_n \in \mathcal{B}_n$  for  $m, n \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$ , we have

$$|f(\omega_m(z))| + \lambda \sum_{k=1}^{\infty} |a_k| |\omega_n(z)|^k \leq 1 \quad (3.6)$$

for  $|z| = r \leq R_{\lambda,m,n}$ , where  $R_{\lambda,m,n}$  is the unique root in  $(0, 1)$  of the equation

$$(2\lambda - 1)r^{m+n} + 2\lambda r^n + r^m + r^n - 1 = 0$$

and the radius  $R_{\lambda,m,n}$  is the best possible. Moreover,

$$|f(\omega_m(z))|^2 + \lambda \sum_{k=1}^{\infty} |a_k| |\omega_n(z)|^k \leq 1 \quad (3.7)$$

for  $|z| = r \leq R_{2,\lambda,m,n}$ , where  $R_{2,\lambda,m,n}$  is the unique root in  $(0, 1)$  of the equation

$$(\lambda - 1)r^{2m+n} + 2\lambda r^{m+n} + (\lambda + 1)r^n + r^{2m} - 1 = 0$$

and the radius  $R_{2,\lambda,m,n}$  is the best possible.

**Proof** Firstly, we consider the first part. By the Schwarz lemma and the Schwarz-Pick lemma, respectively, we obtain

$$|\omega_m(z)| \leq |z|^m, \quad |\omega_n(z)| \leq |z|^n, \quad \text{and} \quad |f(\omega_m(z))| \leq \frac{r^m + a}{1 + ar^m}, \quad (3.8)$$

for  $z \in \mathbb{D}$ . Then by Lemma 2.2, we obtain

$$\begin{aligned} |f(\omega_m(z))| + \lambda \sum_{k=1}^{\infty} |a_k| |\omega_n(z)|^k &\leq \frac{a + r^m}{1 + ar^m} + \lambda(1 - a^2) \frac{r^n}{1 - r^n} \\ &:= A_{m,n}(a, r, \lambda). \end{aligned}$$

We just need to show that  $A_{m,n}(a, r, \lambda) \leq 1$  holds for  $r \leq R_{\lambda,m,n}$ . That is to prove  $A(a, r, \lambda) \leq 0$ , where

$$\begin{aligned} A(a, r, \lambda) &= (a + r^m)(1 - r^n) + \lambda(1 - a^2)r^n(1 + ar^m) - (1 + ar^m)(1 - r^n) \\ &= (1 - a)[r^{m+n}\lambda a^2 + r^n\lambda(1 + r^m)a + r^n\lambda - r^{m+n} + r^m + r^n - 1] \\ &\leq (1 - a)[r^{m+n}\lambda + r^n\lambda(1 + r^m) + r^n\lambda - r^{m+n} + r^m + r^n - 1] \\ &= (1 - a)[(2\lambda - 1)r^{m+n} + 2\lambda r^n + r^m + r^n - 1]. \end{aligned}$$

Obviously, it is enough to show that  $(2\lambda - 1)r^{m+n} + 2\lambda r^n + r^m + r^n - 1 \leq 0$  holds for  $r \leq R_{\lambda,m,n}$ . Let  $g(r) = (2\lambda - 1)r^{m+n} + 2\lambda r^n + r^m + r^n - 1$ , then we have

$$\begin{aligned} g'(r) &= (m+n)(2\lambda - 1)r^{m+n-1} + 2n\lambda r^{n-1} + mr^{m-1} + nr^{n-1} \\ &= 2(m+n)\lambda r^{m+n-1} + mr^{m-1}(1 - r^n) + nr^{n-1}(1 - r^m) + 2n\lambda r^{n-1} \\ &> 0. \end{aligned}$$

We conclude that  $g(r)$  is an increasing function of  $r \in (0, 1)$  for fixed  $\lambda \in (0, \infty)$ . Meanwhile, we observe that  $g(0) = -1 < 0$  and  $g(1) = 4\lambda > 0$ . Then there is a unique root  $R_{\lambda,m,n} \in (0, 1)$  such that  $g(r) = 0$ . Hence,  $g(r) \leq 0$  holds for  $r \leq R_{\lambda,m,n}$ .

To show that the radius  $R_{\lambda,m,n}$  is the best possible. For  $a \in [0, 1)$ , let

$$\begin{aligned} \omega_m(z) &= z^m, \quad \omega_n(z) = z^n \quad \text{and} \\ f(z) &= \frac{a+z}{1+az} = a + (1-a^2) \sum_{k=1}^{\infty} (-a)^{k-1} z^k, \quad z \in \mathbb{D}. \end{aligned} \quad (3.9)$$

Taking  $z = r$ , then the left side of inequality (3.6) reduces to

$$|f(r^m)| + \lambda \sum_{k=1}^{\infty} |a_k| r^{nk} = \frac{a + r^m}{1 + ar^m} + \lambda(1 - a^2) \frac{r^n}{1 - ar^n}. \tag{3.10}$$

Now we just need to show that if  $r > R_{\lambda,m,n}$ , then there exists an  $a \in [0, 1)$ , such that the right side of (3.10) is greater than 1. That is

$$(1 - a)(r^{m+n} \lambda a^2 + r^n [\lambda(1 + r^m) + (1 - r^m)]a + r^n \lambda + r^m - 1) > 0. \tag{3.11}$$

Let

$$B(a, r, \lambda) = r^{m+n} \lambda a^2 + r^n [\lambda(1 + r^m) + (1 - r^m)]a + r^n \lambda + r^m - 1.$$

Obviously,  $B(a, r, \lambda)$  is a continuous and increasing function of  $a \in [0, 1)$  for each fixed  $\lambda \in (0, \infty)$  and  $r \in (0, 1)$ . Then  $B(a, r, \lambda) \leq B(1, r, \lambda) = (2\lambda - 1)r^{m+n} + (2\lambda + 1)r^n + r^m - 1 = g(r)$  for  $\lambda \in (0, \infty)$  and  $r \in (0, 1)$ . Meanwhile, the monotonicity of  $g(r)$  leads to that if  $r > R_{\lambda,m,n}$ , then  $B(1, r, \lambda) > 0$ . Hence, by the continuity of  $B(a, r, \lambda)$ , if  $r > R_{\lambda,m,n}$ , we have

$$\lim_{a \rightarrow 1^-} B(a, r, \lambda) = B(1, r, \lambda) > 0.$$

Therefore, if  $r > R_{\lambda,m,n}$ , then there exists an  $a$ , such that inequality (3.11) holds.

Next, we prove the second part. As in the previous case, by (3.8) and Lemma 2.2, it follows easily that

$$|f(\omega_m(z))|^2 + \lambda \sum_{k=1}^{\infty} |a_k| |\omega_n(z)|^k \leq \left( \frac{a + r^m}{1 + ar^m} \right)^2 + \lambda(1 - a^2) \frac{r^n}{1 - r^n}. \tag{3.12}$$

We know above inequality (3.12) is smaller than or equal to 1 for  $r \leq R_{2,\lambda,m,n}$  provided  $A_2(a, r, \lambda) \leq 0$ , where

$$\begin{aligned} A_2(a, r, \lambda) &= (1 - a^2)[r^{2m+n} \lambda a^2 + 2r^{m+n} \lambda a - r^{2m+n} + r^n \lambda + r^{2m} + r^n - 1] \\ &\leq (1 - a^2)[(\lambda - 1)r^{2m+n} + 2\lambda r^{m+n} + (\lambda + 1)r^n + r^{2m} - 1]. \end{aligned}$$

It is sufficient for us to prove  $(\lambda - 1)r^{2m+n} + 2\lambda r^{m+n} + (\lambda + 1)r^n + r^{2m} - 1 \leq 0$  holds for  $r \leq R_{2,\lambda,m,n}$ . Let  $k(r) = (\lambda - 1)r^{2m+n} + 2\lambda r^{m+n} + (\lambda + 1)r^n + r^{2m} - 1$ , then we obtain

$$\begin{aligned} k'(r) &= (2m + n)(\lambda - 1)r^{2m+n-1} + 2(m + n)\lambda r^{m+n-1} \\ &\quad + n(\lambda + 1)r^{n-1} + 2mr^{2m-1} \\ &= (2m + n)\lambda r^{2m+n-1} + nr^{n-1}(1 - r^{2m}) \\ &\quad + 2mr^{2m-1}(1 - r^n) + 2(m + n)\lambda r^{m+n-1} \end{aligned}$$



$$+ n\lambda r^{n-1} > 0.$$

Obviously,  $k(r)$  is an increasing function of  $r \in (0, 1)$  for fixed  $\lambda \in (0, \infty)$ . And we also have  $k(0) = -1 < 0$  and  $k(1) = 4\lambda > 0$ . Then there is a unique root  $R_{2,\lambda,m,n} \in (0, 1)$  such that  $k(r) = 0$ . Hence,  $k(r) \leq 0$  holds for  $r \leq R_{2,\lambda,m,n}$ .

The sharpness part follows similarly. Thus the proof of Theorem 3.2 is complete.  $\square$

In Theorem 3.2, setting  $\omega_m(z) = \omega_n(z) = \omega(z)$ , then we have the following corollary.

**Corollary 3.1** *Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  and  $\omega \in \mathcal{B}_m$  for  $m \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$ , we have*

$$|f(\omega(z))| + \lambda \sum_{k=1}^{\infty} |a_k| |\omega(z)|^k \leq 1$$

for  $|z| = r \leq R_{\lambda,m}$ , where

$$R_{\lambda,m} = \begin{cases} \sqrt[m]{\frac{\sqrt{\lambda^2+4\lambda-(\lambda+1)}}{2\lambda-1}} & \text{for } \lambda \in (0, \frac{1}{2}) \cup (\frac{1}{2}, \infty), \\ \sqrt[m]{\frac{1}{3}} & \text{for } \lambda = \frac{1}{2}. \end{cases}$$

The radius  $R_{\lambda,m}$  is the best possible. Moreover,

$$|f(\omega(z))|^2 + \lambda \sum_{k=1}^{\infty} |a_k| |\omega(z)|^k \leq 1$$

for  $|z| = r \leq R_{2,\lambda,m}$ , where

$$R_{2,\lambda,m} = \begin{cases} \sqrt[m]{\frac{\lambda+2-\sqrt{\lambda^2+8\lambda}}{2(1-\lambda)}} & \text{for } \lambda \in (0, 1) \cup (1, \infty), \\ \sqrt[m]{\frac{1}{3}} & \text{for } \lambda = 1. \end{cases}$$

The radius  $R_{2,\lambda,m}$  is the best possible.

**Remark 3.2** 1. If  $\omega(z) = z$ , then Corollary 3.1 reduces to Theorem 3.3 of [32].

2. If  $\omega(z) = z$ ,  $\lambda = 1$ , then Corollary 3.1 reduces to Theorem 1.1.

**Theorem 3.3** *Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$ ,  $a := |a_0|$  and  $\omega_m(z) \in \mathcal{B}_m$ ,  $\omega_n(z) \in \mathcal{B}_n$  for  $m, n \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$  and  $s \in \mathbb{N}$ , we have*

$$|f(\omega_m(z))| + \lambda \sum_{k=1}^{\infty} |a_{sk}| |\omega_n(z)|^{sk} \leq 1 \quad (3.13)$$

for  $|z| = r \leq R_{\lambda,m,n,s}$ , where  $R_{\lambda,m,n,s}$  is unique root in  $(0, 1)$  of equation

$$(2\lambda - 1)r^{ns+m} + (2\lambda + 1)r^{ns} + r^m - 1 = 0.$$

The radius  $R_{\lambda,m,n,s}$  is the best possible.

**Proof** Inequality (3.8) and Lemma 2.2 lead to that

$$|f(\omega_m(z))| + \lambda \sum_{k=1}^{\infty} |a_{sk}| |\omega_n(z)|^{sk} \leq \frac{a + r^m}{1 + ar^m} + \lambda(1 - a^2) \frac{r^{ns}}{1 - r^{ns}} := A_{m,n,s}(a, r, \lambda). \tag{3.14}$$

We know (3.14) is smaller than or equal to 1 provided  $A'_{m,n,s}(a, r, \lambda) \leq 0$ , where

$$\begin{aligned} A'_{m,n,s}(a, r, \lambda) &= (a + r^m)(1 - r^{ns}) + \lambda(1 - a^2)r^{ns}(1 + ar^m) - (1 + ar^m)(1 - r^{ns}) \\ &= (1 - a)[r^{ns+m}\lambda a^2 + r^{ns}\lambda(1 + r^m)a + r^{ns}\lambda - r^{ns+m} + r^{ns} + r^m - 1] \\ &\leq (1 - a)[r^{ns+m}\lambda + r^{ns}\lambda(1 + r^m) + r^{ns}\lambda - r^{ns+m} + r^{ns} + r^m - 1] \\ &= (1 - a)[(2\lambda - 1)r^{ns+m} + (2\lambda + 1)r^{ns} + r^m - 1]. \end{aligned}$$

Let  $l(r) = (2\lambda - 1)r^{ns+m} + (2\lambda + 1)r^{ns} + r^m - 1 \leq 0$ . Now,  $A'_{m,n,s}(a, r, \lambda) \leq 0$  if  $l(r) \leq 0$ , which holds for  $r \leq R_{\lambda,m,n,s}$ . When  $\lambda \in (0, \infty)$ , we have

$$\begin{aligned} l'(r) &= (2\lambda - 1)(ns + m)r^{ns+m-1} + (2\lambda + 1)(ns)r^{ns-1} + mr^{m-1} \\ &= 2\lambda(ns + m)r^{ns+m-1} + nsr^{ns-1}(1 - r^m) + mr^{m-1}(1 - r^{ns}) + 2\lambda nsr^{ns-1} \\ &> 0. \end{aligned}$$

We claim that for any  $\lambda \in (0, \infty)$ ,  $l(r)$  is a monotonically increasing function of  $r \in (0, 1)$ . Meanwhile, we have  $l(0)l(1) < 0$ . Thus, there is a unique root  $R_{\lambda,m,n,s} \in (0, 1)$  such that  $l(r) = 0$ . Hence,  $l(r) \leq 0$  holds for  $r \leq R_{\lambda,m,n,s}$ .

Now, we show that the radius  $R_{\lambda,m,n,s}$  is the best possible, we still consider the function  $\omega_m(z)$ ,  $\omega_n(z)$ ,  $f(z)$  as in (3.9). Taking  $z = r$ , then the left side of inequality (3.13) reduces to

$$|f(r^m)| + \lambda \sum_{k=1}^{\infty} |a_{sk}| r^{nsk} = \frac{a + r^m}{1 + ar^m} + \lambda(1 - a^2) \frac{a^{s-1}r^{ns}}{1 - a^s r^{ns}}. \tag{3.15}$$

Now to show that if  $r > R_{\lambda,m,n,s}$ , then there exists an  $a \in [0, 1)$ , such that the right side of (3.15) is greater than 1. That is

$$(1 - a)(r^{ns+m}\lambda a^{s+1} + r^{ns}[1 - r^m + (r^m + 1)\lambda]a^s + \lambda r^{ns}a^{s-1} + r^m - 1) > 0. \tag{3.16}$$

Let

$$B_{m,n,s}(a, r, \lambda) = r^{ns+m} \lambda a^{s+1} + r^{ns} [1 - r^m + (r^m + 1)\lambda] a^s + \lambda r^{ns} a^{s-1} + r^m - 1.$$

Obviously,  $B_{m,n,s}(a, r, \lambda)$  is a continuous and increasing function of  $a \in [0, 1)$  for each fixed  $\lambda \in (0, \infty)$  and  $r \in (0, 1)$ . Then

$$B_{m,n,s}(a, r, \lambda) \leq B_{m,n,s}(1, r, \lambda) = (2\lambda - 1)r^{ns+m} + (2\lambda + 1)r^{ns} + r^m - 1 = l(r)$$

holds for  $\lambda \in (0, \infty)$  and  $r \in (0, 1)$ . Furthermore, according to the monotonicity of  $l(r)$ , we have if  $r > R_{\lambda,m,n,s}$ , then  $B_{m,n,s}(1, r, \lambda) > 0$ . Hence, by the continuity of  $B_{m,n,s}(a, r, \lambda)$ , if  $r > R_{\lambda,m,n,s}$ , we have

$$\lim_{a \rightarrow 1^-} B_{m,n,s}(a, r, \lambda) = B_{m,n,s}(1, r, \lambda) > 0.$$

Therefore, if  $r > R_{\lambda,m,n,s}$ , then there exists an  $a$ , such that inequality (3.16) holds.  $\square$

**Remark 3.3** If  $\lambda = 1$ , then Theorem 3.3 reduces to Theorem 3.3 of [20].

In Theorem 3.3, setting  $\omega_m(z) = \omega_n(z) = \omega(z)$ ;  $\omega_m(z) = \omega_n(z) = \omega(z)$  and  $s = 2$ , then we have Corollaries 3.2, 3.3, respectively.

**Corollary 3.2** Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  and  $\omega \in \mathcal{B}_m$  for  $m \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$  and  $s \in \mathbb{N}$ , we have

$$|f(\omega(z))| + \lambda \sum_{k=1}^{\infty} |a_{sk}| |\omega(z)|^{sk} \leq 1$$

for  $|z| = r \leq R_{\lambda,m,s}$ , where  $R_{\lambda,m,s}$  is unique root in  $(0, 1)$  of equation

$$(2\lambda - 1)r^{ms+m} + (2\lambda + 1)r^{ms} + r^m - 1 = 0.$$

The radius  $R_{\lambda,m,s}$  is the best possible.

**Remark 3.4** 1. If  $\omega(z) = z$ , then Corollary 3.2 reduces to Theorem 3.2 of [32].

2. If  $\omega(z) = z$  and  $\lambda = 1$ , then Corollary 3.2 reduces to Theorem 1.3.

**Corollary 3.3** Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$  and  $\omega \in \mathcal{B}_m$  for  $m \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$ , we have

$$|f(\omega(z))| + \lambda \sum_{k=1}^{\infty} |a_{2k}| |\omega(z)|^{2k} \leq 1$$

for  $|z| = r \leq R_{\lambda,m,2}$ , where

$$R_{\lambda,m,2} = \begin{cases} \sqrt[m]{\frac{\sqrt{2\lambda-1}}{2\lambda-1}} & \text{for } \lambda \in [0, \frac{1}{2}) \cup (\frac{1}{2}, \infty), \\ \sqrt[m]{\frac{1}{2}} & \text{for } \lambda = \frac{1}{2}. \end{cases}$$

The radius  $R_{\lambda,m,2}$  is the best possible.

**Remark 3.5** If  $\omega(z) = z$  and  $\lambda = 1$ , then Corollary 3.3 reduces to Theorem 1.2.

**Theorem 3.4** Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^{\infty} a_k z^k$ ,  $a := |a_0|$  and  $\omega \in \mathcal{B}_m$  for  $m \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$ , we have

$$|f(\omega(z))| + |f'(\omega(z))||\omega(z)| + \lambda \sum_{k=2}^{\infty} |a_k||\omega(z)|^k \leq 1 \tag{3.17}$$

for  $|z| = r \leq R_\lambda$ , where

$$R_\lambda = \begin{cases} r_\lambda, & \text{for } \lambda \in (\frac{1}{2}, \infty) \\ r^*, & \text{for } \lambda \in (0, \frac{1}{2}] \end{cases}$$

is the best possible, and the radii  $r_\lambda$  and  $r^*$  are the unique roots in  $(0, \sqrt[m]{\sqrt{2} - 1})$  of the equations

$$2\lambda r^{4m} + (4\lambda - 1)r^{3m} + (2\lambda - 1)r^{2m} + 3r^m - 1 = 0$$

and

$$r^{4m} + r^{3m} + 3r^m - 1 = 0,$$

respectively.

**Proof** By inequality (3.2), Schwarz-Pick lemma, Lemma 2.2 and Lemma 2.3 (2.1), respectively. Then we have

$$\begin{aligned} & |f(\omega(z))| + |f'(\omega(z))||\omega(z)| + \lambda \sum_{k=2}^{\infty} |a_k||\omega(z)|^k \\ & \leq \frac{a + r^m}{1 + ar^m} + \left[ 1 - \left( \frac{a + r^m}{1 + ar^m} \right)^2 \right] \frac{r^m}{1 - r^{2m}} + \lambda(1 - a^2) \frac{r^{2m}}{1 - r^m} \\ & = \frac{a + r^m}{1 + ar^m} + \frac{(1 - a^2)r^m}{(1 + ar^m)^2} + \lambda(1 - a^2) \frac{r^{2m}}{1 - r^m} \\ & = 1 + \frac{(1 - a)\Phi(a, r, \lambda)}{(1 + ar^m)^2(1 - r^m)}, \end{aligned}$$

for  $r \leq \sqrt[m]{\sqrt{2} - 1}$ , where

$$\begin{aligned} \Phi(a, r, \lambda) &= r^{4m}\lambda a^3 + (2r^{3m}\lambda + r^{4m}\lambda)a^2 + (r^{2m}\lambda + 2r^{3m}\lambda + r^{2m} - r^{3m})a \\ & \quad + 3r^m + r^{2m}\lambda - 2r^{2m} - 1 \end{aligned}$$

and  $\sqrt[m]{\sqrt{2}-1}$  is the unique root in  $(0, 1)$  of the equation  $r^{2m} + 2r^m - 1 = 0$ . Observe that  $\Phi(a, r, \lambda)$  is a monotonically increasing function of  $a \in [0, 1)$  for each fixed  $\lambda \in [0, \infty)$  and  $r \in (0, 1)$ . Then we have

$$\Phi(a, r, \lambda) \leq \Phi(1, r, \lambda) = 2\lambda r^{4m} + (4\lambda - 1)r^{3m} + (2\lambda - 1)r^{2m} + 3r^m - 1.$$

Now, we need to show that  $\Phi(1, r, \lambda) \leq 0$  holds for  $r \leq R_\lambda$ .

*Case 1.* If  $\lambda \in (\frac{1}{2}, \infty)$ ,  $\Phi(1, r, \lambda)$  is a continuous and increasing function of  $r \in (0, 1)$  and

$$\Phi(1, 0, \lambda)\Phi(1, \sqrt[m]{\sqrt{2}-1}, \lambda) < 0.$$

Thus  $r_\lambda$  is unique root in  $(0, \sqrt[m]{\sqrt{2}-1})$  of  $\Phi(1, r, \lambda)$  and  $\Phi(1, r, \lambda) \leq 0$  for  $r \leq r_\lambda$ .

*Case 2.* If  $\lambda \in [0, \frac{1}{2}]$ , then we have  $\Phi(1, r, \lambda) \leq r^{4m} + r^{3m} + 3r^m - 1$ . Let  $j(r) = r^{4m} + r^{3m} + 3r^m - 1$ . One can verify that  $j(r)$  is a continuous and increasing function of  $r \in (0, 1)$  and  $j(0)j(\sqrt[m]{\sqrt{2}-1}) < 0$ . Thus  $r^*$  is unique root in  $(0, \sqrt[m]{\sqrt{2}-1})$  of  $j(r)$  and  $j(r) \leq 0$  for  $r \leq r^*$ . Then  $\Phi(1, r, \lambda) \leq j(r) \leq 0$  for  $r \leq r^*$ . Hence, inequality (3.17) holds for  $r \leq R_\lambda$ .

To show the radius  $R_\lambda$  is sharp, we consider the function  $\omega(z)$  and  $f(z)$  is same as (3.3). Taking  $z = r$ , then the left side of inequality (3.17) gives

$$\begin{aligned} |f(r^m)| + |f'(r^m)||r^m| + \lambda \sum_{k=2}^{\infty} |a_k||r|^{mk} &= \frac{a + r^m}{1 + ar^m} + \frac{(1 - a^2)r^m}{(1 + ar^m)^2} \\ &\quad + \lambda(1 - a^2) \frac{ar^{2m}}{1 - ar^m}. \end{aligned}$$

Next, we show that if  $r > R_\lambda$ , then there exists an  $a \in [0, 1)$ , such that the right side of above equality is greater than 1. It is equivalent to show that

$$\begin{aligned} r^{4m}\lambda a^4 + (2r^{3m}\lambda + r^{4m}\lambda)a^3 + (r^{2m}\lambda + 2r^{3m}\lambda - r^{3m})a^2 \\ + (r^m + r^{2m}\lambda - r^{2m})a + 2r^m - 1 > 0. \end{aligned} \quad (3.18)$$

Let

$$\begin{aligned} P(a, r, \lambda) &= r^{4m}\lambda a^4 + (2r^{3m}\lambda + r^{4m}\lambda)a^3 + (r^{2m}\lambda + 2r^{3m}\lambda - r^{3m})a^2 \\ &\quad + (r^m + r^{2m}\lambda - r^{2m})a + 2r^m - 1. \end{aligned}$$

Next, we divide it into two cases to show that there exists an  $a \in [0, 1)$ , such that (3.18) holds for  $r > R_\lambda$ .

*Case 1.* If  $\lambda \in (\frac{1}{2}, \infty)$ , one can verify that the function  $P(a, r, \lambda)$  is an increasing function with respect to  $a \in [0, 1)$  for each fixed  $\lambda \in (\frac{1}{2}, \infty)$  and  $r \in (0, 1)$ . Thus  $P(a, r, \lambda) \leq P(1, r, \lambda) = 2\lambda r^{4m} + (4\lambda - 1)r^{3m} + (2\lambda - 1)r^{2m} + 3r^m - 1 = \Phi(1, r, \lambda)$ .

According to the monotonicity of  $\Phi(1, r, \lambda)$ , if  $r > r_\lambda$ , then  $P(1, r, \lambda) = \Phi(1, r, \lambda) > 0$ . In the same way, if  $r > r_\lambda$ , we have

$$\lim_{a \rightarrow 1^-} P(a, r, \lambda) = P(1, r, \lambda) > 0.$$

Hence, if  $r > r_\lambda$ , then there exists an  $a$ , such that inequality (3.18) holds.

Case 2. If  $\lambda \in [0, \frac{1}{2}]$ , then

$$\begin{aligned} P(a, r, \lambda) &\leq P(a, r, \frac{1}{2}) \\ &= \frac{1}{2}r^{4m}a^4 + \left(\frac{1}{2}r^{4m} + r^{3m}\right)a^3 \\ &\quad + \frac{1}{2}r^{2m}a^2 + \left(-\frac{1}{2}r^{2m} + r^m\right)a + 2r^m - 1 \\ &\leq r^{4m} + r^{3m} + 3r^m - 1 = j(r). \end{aligned}$$

According to the monotonicity of  $j(r)$ , if  $r > r^*$ , then  $j(r) > 0$ . It means that

$$\lim_{a \rightarrow 1^-} P(a, r, \lambda) = j(r) > 0.$$

Therefore, if  $r > r^*$ , then there exists an  $a$ , such that (3.18) holds. We complete the proof of theorem. □

- Remark 3.6**
1. If  $\lambda = 1$ , then Theorem 3.4 reduces to Corollary 4.5 of [20].
  2. If  $\omega(z) = z$ , then Theorem 3.4 reduces to Theorem 3.4 of [32].
  3. If  $\omega(z) = z$  and  $\lambda = 1$  in Theorem 3.4, then it reduces to Theorem 1.4.

**Theorem 3.5** Suppose that  $f \in \mathcal{B}$ ,  $f(z) = \sum_{k=0}^\infty a_k z^k$ ,  $a := |a_0|$  and  $\omega \in \mathcal{B}_m$  for  $m \in \mathbb{N}$ . Then for  $\lambda \in (0, \infty)$ , we have

$$|f(\omega(z))|^2 + |f'(\omega(z))||\omega(z)| + \lambda \sum_{k=2}^\infty |a_k||\omega(z)|^k \leq 1 \tag{3.19}$$

for  $|z| = r \leq R_{2,\lambda}$ , where

$$R_{2,\lambda} = \begin{cases} r_{2,\lambda}, & \text{for } \lambda \in (1, \infty) \\ r_2^*, & \text{for } \lambda \in (0, 1] \end{cases}$$

is the best possible, and the radii  $r_{2,\lambda}$  and  $r_2^*$  are the unique roots in  $(0, \sqrt[m]{\frac{\sqrt{5}-1}{2}})$  of the equations

$$\lambda r^{4m} + (2\lambda - 1)r^{3m} + \lambda r^{2m} + 2r^m - 1 = 0$$

and

$$r^{4m} + r^{3m} + r^{2m} + 2r^m - 1 = 0,$$

respectively.

**Proof** By inequality (3.2), Schwarz-Pick lemma, Lemma 2.2 and Lemma 2.3 (2.2), respectively. Then

$$\begin{aligned} & |f(\omega(z))|^2 + |f'(\omega(z))||\omega(z)| + \lambda \sum_{k=2}^{\infty} |a_k||\omega(z)|^k \\ & \leq \left( \frac{a+r^m}{1+ar^m} \right)^2 + \left[ 1 - \left( \frac{a+r^m}{1+ar^m} \right)^2 \right] \frac{r^m}{1-r^{2m}} + \lambda(1-a^2) \frac{r^{2m}}{1-r^m} \\ & = \left( \frac{a+r^m}{1+ar^m} \right)^2 + \frac{(1-a^2)r^m}{(1+ar^m)^2} + \lambda(1-a^2) \frac{r^{2m}}{1-r^m} \\ & = 1 + \frac{(1-a^2)\Psi(a, r, \lambda)}{(1+ar^m)^2(1-r^m)}, \end{aligned}$$

for  $r \leq \sqrt[m]{\frac{\sqrt{5}-1}{2}}$ , where

$$\Psi(a, r, \lambda) = r^{4m}\lambda a^2 + 2r^{3m}\lambda a - r^{3m} + r^{2m}\lambda + 2r^m - 1$$

and  $\sqrt[m]{\frac{\sqrt{5}-1}{2}}$  is the unique root in  $(0, 1)$  of the equation  $r^{2m} + r^m - 1 = 0$ . Observe that  $\Psi(a, r, \lambda)$  is a monotonically increasing function of  $a \in [0, 1)$  for each fixed  $\lambda \in [0, \infty)$  and  $r \in (0, 1)$ . Then we have

$$\Psi(a, r, \lambda) \leq \Psi(1, r, \lambda) = r^{4m}\lambda + (2\lambda - 1)r^{3m} + r^{2m}\lambda + 2r^m - 1.$$

Next, we show that  $\Psi(1, r, \lambda) \leq 0$  holds for  $r \leq R_{2,\lambda}$ .

*Case 1.* If  $\lambda \in (1, \infty)$ ,  $\Psi(1, r, \lambda)$  is a continuous and increasing function of  $r \in (0, 1)$  and

$$\Psi(1, 0, \lambda) = -1 < 0, \quad \Psi \left( 1, \sqrt[m]{\frac{\sqrt{5}-1}{2}}, \lambda \right) = \lambda > 0.$$

Thus  $r_{2,\lambda}$  is unique root in  $(0, \sqrt[m]{\frac{\sqrt{5}-1}{2}})$  of  $\Psi(1, r, \lambda)$  and  $\Psi(1, r, \lambda) \leq 0$  for  $r \leq r_{2,\lambda}$ .

*Case 2.* If  $\lambda \in [0, 1]$ , then we have  $\Psi(1, r, \lambda) \leq r^{4m} + r^{3m} + r^{2m} + 2r^m - 1$ . Let  $s(r) = r^{4m} + r^{3m} + r^{2m} + 2r^m - 1$ . One can verify that  $s(r)$  is a continuous and

increasing function of  $r \in (0, 1)$  and

$$s(0) = -1, \quad s\left(\sqrt[m]{\frac{\sqrt{5}-1}{2}}\right) = 1 > 0.$$

Thus  $r_2^*$  is unique root in  $(0, \sqrt[m]{\frac{\sqrt{5}-1}{2}})$  of  $s(r)$  and  $s(r) \leq 0$  for  $r \leq r_2^*$ . Then  $\Psi(1, r, \lambda) \leq s(r) \leq 0$  for  $r \leq r_2^*$ . Hence, inequality (3.19) holds for  $r \leq R_{2,\lambda}$ .

The sharpness part is similar to Theorem 3.4, and we omit it. Thus the proof of Theorem 3.5 is complete.  $\square$

## References

1. Abu-Muhanna, Y.: Bohr's phenomenon in subordination and bounded harmonic classes. *Complex Var. Elliptic Equ.* **55**(11), 1071–1078 (2010)
2. Abu-Muhanna, Y., Ali, R.M.: Bohr's phenomenon for analytic functions into the exterior of a compact convex body. *J. Math. Anal. Appl.* **379**(2), 512–517 (2011)
3. Abu-Muhanna, Y., Ali, R.M., Ng, Z.C.: Bohr radius for the punctured disk. *Math. Nachr.* **290**, 2434–2443 (2017)
4. Abu-Muhanna, Y., Ali, R.M., Ng, Z.C., Hasni, S.F.M.: Bohr radius for subordinating families of analytic functions and bounded harmonic mappings. *J. Math. Anal. Appl.* **420**(1), 124–136 (2014)
5. Aizenberg, L.: Multidimensional analogues of Bohr's theorem on power series. *Proc. Amer. Math. Soc.* **128**(4), 1147–1155 (2000)
6. Aizenberg, L.: Generalization of results about the Bohr radius for power series. *Stud. Math.* **180**, 161–168 (2007)
7. Aizenberg, L., Tarkhanov, N.: A Bohr phenomenon for elliptic equations. *Proc. Lond. Math. Soc.* **82**(2), 385–401 (2001)
8. Ali, R. M., Abu-Muhanna, Y., Ponnusamy, S.: On the Bohr inequality. In: N. K. Govil, et al. (Eds.), *Progress in Approximation Theory and Applicable Complex Analysis in Springer Optimization and Its Applications*. vol. 117, pp. 265–295. (2016)
9. Alkhaleefah, S.A., Kayumov, I.R., Ponnusamy, S.: On the Bohr inequality with a fixed zero coefficient. *Proc. Amer. Math. Soc.* **147**(12), 5263–5274 (2019)
10. Bénéteau, C., Dahlner, A., Khavinson, D.: Remarks on the Bohr phenomenon. *Comput. Methods Funct. Theory.* **4**(1), 1–19 (2004)
11. Bhowmik, B., Das, N.: Bohr phenomenon for subordinating families of certain univalent functions. *J. Math. Anal. Appl.* **462**(2), 1087–1098 (2018)
12. Bhowmik, B., Das, N.: Bohr phenomenon for locally univalent functions and logarithmic power series. *Comput. Methods Funct. Theory.* **19**(4), 729–745 (2019)
13. Bhowmik, B., Das, N.: On some aspects of the Bohr inequality. *Rocky Mountain J. Math.* **51**(1), 87–96 (2021)
14. Boas, H.P.: Majorant series. *Korean Math. Soc.* **37**(2), 321–337 (2000)
15. Boas, H.P., Khavinson, D.: Bohr's power series theorem in several variables. *Proc. Amer. Math. Soc.* **125**(10), 2975–2979 (1997)
16. Bohr, H.: A theorem concerning power series. *Proc. London Math. Soc.* **13**(2), 1–5 (1914)
17. Djakov, P.B., Ramanujan, M.S.: A remark on Bohr's theorems and its generalizations. *J. Anal.* **8**, 65–77 (2000)
18. Evdoridis, S., Ponnusamy, S., Rasila, A.: Improved Bohr's inequality for locally univalent harmonic mappings. *Indag. Math. (N.S.)* **30**(1), 201–213 (2019)
19. Graham, I., Kohr, G.: *Geometric Function Theory in One and Higher Dimensions*. Marcel Dekker Inc., New York (2003)
20. Hu, X. J., Wang, Q. H., Long, B. Y.: Bohr-type inequalities for bounded analytic functions of Schwarz functions. *AIMS. Math.* **6**(12), 13608–13621 (2021)



21. Ismagilov, A.A., Kayumova, A.V., Kayumov, I.R., Ponnusamy, S.: Bohr type inequalities in some classes of analytic functions. *J. Math. Sci.* **252**(3), 360–373 (2021)
22. Kayumov, I.R., Ponnusamy, S.: Bohr-Rogosinski radius for analytic functions. [arXiv:1708.05585](https://arxiv.org/abs/1708.05585) (2017)
23. Kayumov, I.R., Ponnusamy, S.: Improved version of Bohr's inequality. *C. R. Math. Acad. Sci. Paris.* **356**(3), 272–277 (2018)
24. Kayumov, I.R., Ponnusamy, S.: Bohr's inequalities for the analytic functions with lacunary series and harmonic functions. *J. Math. Anal. Appl.* **465**, 857–871 (2018)
25. Kayumov, I. R., Ponnusamy, S.: On a powered Bohr inequality. *Ann. Acad. Sci. Fenn. Ser. A I Math* **44**, 301–310 (2019)
26. Kayumov, I.R., Ponnusamy, S., Shakirov, N.: Bohr radius for locally univalent harmonic mappings. *Math. Nachr.* **291**(11–12), 1757–1768 (2018)
27. Kayumova, A., Kayumov, I. R., Ponnusamy, S.: Bohr's inequality for harmonic mappings and beyond. *Mathematics and computing. Commun. Comput. Inf. Sci.* **834**, 245–256, (2018)
28. Liu, M.S., Shang, Y.M., Xu, J.F.: Bohr-type inequalities of analytic functions. *J. Inequal. Appl.* **345**, 13 (2018)
29. Paulsen, V. I., Popescu, G., Singh, D.: On Bohr's inequality. *Proc. Lond. Math. Soc.* **3** (85), 493–512 (2002)
30. Paulsen, V.I., Singh, D.: Bohr's inequality for uniform algebras. *Proc. Amer. Math. Soc.* **132**(12), 3577–3579 (2004)
31. Tomić, M.: Sur un théorème de H. Bohr. *Math. Scand.* **11**, 103–106 (1962)
32. Wu, L., Wang, Q.H., Long, B.Y.: Some Bohr-type inequalities with one parameter for bounded analytic functions. Submitted

**Publisher's Note** Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.